11-036 TARZFBS VSRR RS (2011, 3)

(@]
1.
(1)
Vi(t) = J.(; (Qini —Qoutj )dt Q)
i i=1,2, 3 i
Vi) i
t Qini
Qouti
i Qouti
i+1 Qini+1
QoutizQini+1
1)
Qinl = Qin
(2 2
Q)= +Q, ~Q, ){tt exp [1{]} @
p p
Q (=219m¥s) t, (=20hr)
Q,(=8887m’%s)
c(=20)
H=100m
L=222m 2
Case3
2. 0.01
3 H
H Qp

-211-



11-036 TARZFBS VSRR RS (2011, 3)

Qa _
8500 Qout
Qout
«» 7500 Qout
= “ t
Q,=6773 5646 E 500 833t
3 Qout
4792(m°/s) 5500 !
4792(m%s) Q. 4500
Casel Fig.1 3500
2500
4540(m*/s) Qa=4792 m°/s 5% 1500
10 15 20 25 30 35 40 45
(hr)
Fig.1 Casel
Qa _
8500 ggﬂi
cosel Sou
6500 Qout
3 Qa 5500 Qout
Case? 2500
Fig.2 3500
4000(m*/s) 2500
1500
17% 10 15 20 25 30 35 40 45
2 3 (hr)
Fig.2 Case2
8500 . Qout
Qout
0:57500 r Qout
E Qout
6500 Qout
5500 Qout
4500
3500
2500 -
1 2 1500
10 15 20 25 30 35 40 45
(hr)
Fig.3 Case3
(Case3) Case2
3
105.1m
104.2m 100m 100m
Fig.3 10%
1) 11 713p. 1999.
2)
4. 2002.

-212-



